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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed : 7 1x10=10
afReRRT Aot S fm :
(a) Truth or falsity is a property of
term/proposition/argument.
( Choose the correct answer )
el 31 SPTSNS] (FCR *17 /354 /&R 4f |
(o= Tochr AR e )

(b) An argument has one premise/two
premises/no fixed number of premises.
( Choose the correct answer )
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(c)

- (d)

(2)
b1 IR B SN I AT /B AR T

T /SR I+ @R RS =2 Qe |
( o7 T fR Sferea )

Validity of an argument is concerned with
the form of an argument/content of an
argument/both form and content of the
argument. '

( Choose the correct answer )
T taver e R T /3R Rve
TS/ TR wF RuRE Teww e
GG |

(o= Teachr Al e )

State one point of difference between
deductive and inductive inference.

R e somw S T @ e

SEy F41

(g)

(h)

()

G)

(3)

BAROCO is a valid syllogism/immediate
inference/distributed term.
( Choose the correct answer )

BAROCO b1 (34 i /S S/ e
% |
( ©m Sa3o1 AR Sfrear )

State any one general rule of a categorical
syllogism.

61 Peore e R e 9o R
T

What do the ideograms stand for?
R o R Ao 9632

Under what condition, an equivalent
function becomes true? -

(e) Give an example of particular negative ﬁ '
proposition. ¥ w6 <o o S W7
o1 R e 57 T o |
. iefly : 2x5=10
(f) The figure of a syllogism is determined by Answer briefly
the position of the term. Eodas e -
( Fill in the blank ) (a) Define argument with example.
A ™ o e BrreaepTz, JRE i it |
(A & o@ w41 )
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(4)

(b) Reduce the following sentences into

proper logical propositions and mark them
.asAE, 1LO:

O IR ARPTIS 501 e I S

AE 1 Ofria o w1 :

(i) Al students are pot equally
intelligent.
afem B8t stic 3R e

(ii) Virtuous alone are happy.
T 4l Sece 7R |

(c) State any two rules of conversion.

TR R I 951 B S 3wy |

(d) Write two utilities of the uses of symbols
ﬁﬁmwﬁwmm%n

(e) Define logical constants with exaniples

TIRITR P SRR viget fig

3. Answer the following questions (any four) : 5x4=20
ﬁﬁ%wmﬁmmmwmwm:

(a) Explain the relation between the validity
or invalidity of an argument and truth or
falsehood of its premises and cbnclusion.
I WSl T WIWOR v W o
'%mmmmwmmv%mwwu
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(b)

(c)

(d)

(e)

24A/753

(5)

Write a short note on square of opposition
of proposition.

o9 R 3ofeseg o 1 5y Bt o 1

Distinguish between figure and mood of
syllogism.
R EW A Y6 Tere e AT T4

What is simple proposition according to
modern. classification of proposition?
Define each of the different forms of simple
proposition with example. 1+4=5
/R GYFRF R PR 7= T I
@7 TwRerd e Rfew oI e
ISITRA ATSICR e

Symbolize the following propositions:  1x5=5
oo Rl TR 2ABITT FIS TSR
(i) It is not that Hari is honest.

B T = A R R

(ii) Either Rakesh is intelligent or he is
honest. '

= P AT AR (06 R |

(iiij) If you read attentively, then you will
succeed in the examination.
T P TR el (SR RIS
7S A0
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(6)

(iv) The weather is not good but Rita
goes for a walk.

o3 ot e g o R T 1

(v) 1t is false that the field is muddy and
wet.

G R @ IR QR e R |

(f) 'What is categorical proposition? What are
the different types of categorical
proposition? Explain. 1+4=5
s 7 37 QA ? PR I Rt
SRR & 1, e w4

4. Answer the following questions : 10x4=40
fRuieiRe e e fan
(a) Define syllogism with example. Explain its

24A/753

characteristics. 2+8=10

SR RA e e Whﬂﬁ‘msg(
70 3 |

Or/ 71

What is immediate inference? Explain
obversion with rules as a kind of immediate
inference. 2+4+4=10

S ST FIE Q0 ? S AR AT
1t farpre et 3w |

( Continued )

(b)

(c)

(d)

24A/7583 -

(7)

What is symbolic logic? Discuss the
characteristics of symbolic logic. 4+6=10
AT HREH IT QAT AR
SRR PEFTR S 4 |

Or/7i%

Discuss the relation between symbolic logic
and classical logic. 10

AR R AF " RIe SEREFT
] T7oF AT 4T |

Define proposition according to modern
logic. Explain different types of compound
propositions with example. 2+8=10

e SRem WP e e fan
TR, RR¥a oo Qe IPnE I
I

Or/ T

What is truth-function? What are the basic

truth-functions? Explain each of them.
2+2+6=10

7% o IT QAA? CItR TerETR R
7 ARTH Ferraw T F |

Construct truth table for any five of the

following  propositional forms and

determine whether it is tautology,

contradictory or contingent : 2x5=10
{ Turn Over)



(8)

wore il /R W [T R e
AooIR TS O AW I S
T, TN & SfAfe TWRMAS, Ry
W: . . - - .
(i) pD(pvqg)
(i) (p-9)Dp
(iii) (p-q)-(pVvq)
(iv) (pvq):(~p-~q)
(v) ~[p>D(pvygll
(vi) p:(~pvq)
Or/#& 1

What is indirect or shorter-truth table
method? Discuss the method of proving
validity or invalidity of argument by
shorter-truth table method. 10
AF I 5 -SRI Tai® I QAT ? 5
oyl %3 RIS &S (3991 I Syl
oI TRfSCOT M FA 1

% kX
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